GENERAL NOTES

.

THE PRODUCT SHOWN HERIN IS DESIGNED AND
MANUFACTURED TO COMPLY WITH THE CURRENT
FLORIDA BUILDING CODE (FBC) EXCLUDING HVHZ.

ADEQUACY OF THE EXISTING STRUCTURAL
CONCRETE/MASONRY AND 2X FRAMING AS A MAIN WIND
FORCE RESISTING SYSTEM CAPABLE OF WITHSTANDING
AND TRANSFERRING APPLIED PRODUCT LOADS TO THE
FOUNDATION IS THE RESPONSIBILITY OF THE ENGINEER
OR ARCHITECT OF RECORD FOR THE PROJECT OF
INSTALLATION.

1X AND 2X BUCKS (WHEN USED) SHALL BE DESIGNED AND
ANCHORED TO PROPERLY TRANSFER ALL LOADS TO THE
STRUCTURE. BUCK DESIGN AND INSTALLATION IS THE
RESPONSIBILITY OF THE ENGINEER OR ARCHITECT OF
RECORD FOR THE PROJECT OF INSTALLATION.

THE INSTALLATION DETAILS DESCRIBED HEREIN ARE
GENERIC AND MAY NOT REFLECT ACTUAL CONDITIONS
FOR A SPECIFIC SITE. IF SITE CONDITIONS CAUSE
INSTALLATION TO DEVIATE FROM THE REQUIREMENTS
DETAILED HERIN, A LICENSED ENGINEER OR ARCHITECT
SHALL PREPARE SITE SPECIFIC DOCUMENTS FOR USE
WITH THIS DOCUMENT.

APPROVED IMPACT PROTECTIVE SYSTEM IS REQUIRED ON
THIS PRODUCT IN AREAS REQUIRING IMPACT RESISTANCE.

GLASS MEETS THE REQUIREMENTS OF ASTM E1300 GLASS
CHARTS.

DESIGNATIONS "X" AND "O" STAND FOR THE FOLLOWING:
X: OPERABLE PANEL
O: FIXED PANEL

INSTA

LLATION NOTES:

l.

10.

ONE INSTALLATION ANCHOR IS REQUIRED AT EACH ANCHOR
LOCATION SHOWN.

THE NUMBER OF INSTALLATION ANCHORS DEPICTED IS THE
MINIMUM NUMBER OF ANCHORS TO BE USED FOR THE
PRODUCT INSTALLATION.

INSTALL INDIVIDUAL INSTALLATION ANCHORS WITHIN A
TOLERANCE OF +/-1/2 INCH OF THE DEPICTED LOCATION IN
THE ANCHOR LAYOUT DETAIL (L.E., WITHOUT
CONSIDERATION OF TOLERANCES). TOLERANCES ARE NOT
CUMULATIVE FROM ONE INSTALLATION ANCHOR TO THE
NEXT.

SHIM AS REQUIRED AT EACH INSTALLATION ANCHOR WITH
LOAD BEARING SHIM(S). MAXIMUM ALLOWABLE SHIM
STACK TO BE Y4 INCH. SHIM WHERE SPACE OF 1/16 INCH OR
GREATER OCCURS. SHIM(S) SHALL BE CONSTRUCTED OF
HIGH DENSITY PLASTIC OR BETTER.

FOR INSTALLATION INTO WOOD FRAMING USE #10 WOOD
SCREWS OF SUFFICIENT LENGTH TO ACHIEVE 1 2 INCH
MINIMUM EMBEDMENT INTO WOOD SUBSTRATE.

FOR INSTALLATION THROUGH 1X BUCK TO
CONCRETE/MASONRY, OR DIRECTLY INTO
CONCRETE/MASONRY, USE 3/16 INCH DIAMETER ITW
TAPCONS OF SUFFICIENT LENGTH TO ACHIEVE 1 1/4 INCH
MINIMUM EMBEDMENT.

FOR INSTALLATION INTO STEEL STUD FRAMING USE #10
SELF-TAPPING SCREWS OF SUFFICIENT LENGTH TO ACHIEVE 3
THREADS OF MINIMUM ENGAGEMENT BEYOND STEEL STUD
SUBSTRATE.

MINIMUM EMBEDMENT AND EDGE DISTANCE EXCLUDE
WALL FINISHES, INCLUDING BUT NOT LIMITED TO STUCCO,
FOAM, BRICKVENEER, AND SIDING.

INSTALLATION ANCHORS AND ASSOCIATED HARDWARE
MUST BE MADE OF CORROSION RESISTANT MATERIAL OR
HAVE A CORROSION RESISTANT COATING.

FOR HOLLOW BLOCK AND GROUT FILLED BLOCK, DO NOT
INSTALL INSTALLATION ANCHORS INTO MORTAR JOINTS.
EDGE DISTANCE IS MEASURED FROM FREE EDGE OF BLOCK

6” MAX FRAME WIDTH

O

)
34.31” D.L.O.
EXTERIOR ELEVATION
TEST REQUIREMENTS
DESIGN
PRESSURE +/- 95 PSF
TESTTYPE STRUCTURAL

77 MAX 12" 0.C.

niEm

7" MAX

12”7 0.C.

ANCHOR LAYOUT

CORNER CONSTRUCTION

BUTT, SECURED WITH TWO (2) #8 X 1"
PHILLIPS PAN HEAD CAD PLATED TYPE
"A" SCREWS AND SEALED WITH SCHNEE-
MOREHEAD 5504 SEALANT

NOTE: DRAWINGS TO SCALE ON 24 X 36 PAPER ONLY

OR EDGE OF MORTAR JOINT INTO FACE OF SHELL OF BLOCK. GENERAL NOTES
SERIES E2500/E3250/E4000 CASEMENT OUT (1 LITE)
11. INSTALLATION ANCHORS SHALL BE INSTALLED IN
ACCORDANCE WITH ANCHOR MANUFACTURER'S FINISH | ANY
INSTALLATION INSTRUCTIONS AND ANCHORS SHALL NOT BE
USED IN SUBSTRATES WITH STRENGTHS LESS THAN THE
MINIMUM STRENGTH SPECIFIED BY THE ANCHOR PANELS | NONE
MANUFACTURER. SCREENS | NONE
12. INSTALLATION ANCHOR CAPACITIES FOR PRODUCTS HERIN
ARE BASED ON SUBSTRATE MATERIALS WITH THE INSULATED GLASS
FOLLOWING PROPERTIES: GLAZING | ANNEALED
A. WOOD - MINIMUM SPECIFIC GRAVITY OF 0.55.
B. CONCRETE - MINIMUM COMPRESSIVE STRENGTH OF 3000
PSI.
C. MASONRY - STRENGTH CONFORMANCE TO ASTM C-90
WITH MINIMUM COMPRESSIVE YIELD STRENGTH OF 2000
PSI.
D. STEEL - MINIMUM TENSILE YIELD STRENGTH OF 33 KSI.
MINIMUM WALL THICKNESS OF 49 MILS. (18 GAUGE)
T MEMO NO. 8032-12 REVISIONS SCALE ~DETALS: FULL
§.z‘3’q°* A EA s o N s DESCRIPTION: A EDITED DETAILS TO 2010 2/13/14
= LL B ADDED E3250 AND E4000 5/6/14 | PRAWNBY:JKY
2X E2500/E3250/E4000 CASEMENT OUT
Hermes £ RTINS COMMERCIAL WINDOWS & poors | ELEV A'TIONS ¢ UPDATE NOTES 11/2320 | pareprawn:— 10/31/13
Florida P.E. No. 7HHy8
1900 NE MIAMI CT, UNIT 2—15 400 AMBASSADOR ROW PHONE: (979) 823-6557 b UPDATE ADDRESSES AND NOTES 1/26/24 PAGE
MIAMI, FL 33132 LONGVIEW, TX 75604 FAX: (979) 823-1005 NO 1 OF 7
FBPE Cert. of Authorization No. 29578” ‘



AutoCAD SHX Text
60" MAX FRAME HEIGHT

AutoCAD SHX Text
34.31" D.L.O.

AutoCAD SHX Text
58.25" D.L.O.

AutoCAD SHX Text
"Hermes F. Noreno, P.E. Florida P.E. No. 73778 1900 NE MIAMI CT, UNIT 2-15 MIAMI, FL 33132 FBPE Cert. of Authorization No. 29578"


_0.250”
MAX SHIM

374" MIN,

EDGE DISTANCE

ﬂ

ﬁ 2XWOOD BUCK "BY OTHERS"

N

1 172" MIN,
EMBEDMENT

FRAME HEIGHT

i

NN

AN

EXTERIOR

A2

277

SV (7 ]

0.250”
MAX SHIM

N\

— #10 WOOD SCREW
INSTALLATION
7 ANCHOR

HEAD
SCALE: FULL

0

INTERIOR

#10 WOOD SCREW@

INSTALLATION
ANCHOR

SILL
SCALE: FULL

374" MIN,
EDGE DISTANCE

NOTE: DRAWINGS TO SCALE ON 24 X 36 PAPER ONLY

#10 WOOD SCREW
INSTALLATION x

L 1 1727 MIN )
EMBEDMENT

2XWOOD BUCK "BY OTHERS"

ANCHOR

374" MIN,
EDGE DISTANCE

0.250”

MAX SHIM

FRAME WIDTH

O

INTERIOR

A

6

INTERIOR
5

6

3

: @ JAMB

SCALE: FULL
EXTERIOR
L, 1 1/27 MIN,

EMBEDMENT ]

ﬁ 2XWOOD BUCK "BY OTHERS"

JAMB

N SCALE: FULL

Y A ]
%

AAAAAAAAAAA A

]

—J

rrr

<

=<

1 172" MIN,
EMBEDMENT

7

EXTERIOR

\— 2XWOOD BUCK "BY OTHERS"

:] 7es) |

2/

A4

TIUMOELgges:
.

T

S~ #10 WOOD SCREW
INSTALLATION
ANCHOR

374”7 MIN,
EDGE DISTANCE

0.250”
FRAME WIDTH MAX SHIM
MEMO NO. - REVISIONS DETAILS: FULL
3032-12 SCALE gy g -1
I A EA SONS DESCRIPTION: A EDITED DETAILS TO 2010 2/13/14

e LL B ADDED E3250 AND E4000 5/6/14 | PRAWNBY: JKY

ES E2500/E3250/E4000 CASEMENT OUT
Hermes el 3 COMMERCIAL WINDOWS & DOORS WOOD SUBSTRATE C UPDATE NOTES 1172320 | prg prawn:— 10/31/13
Florida P.E. N&/ijgnn@™
19050 ONE MIAMI éT,,”U\NIT 2-15 400 AMBASSADOR ROW PHONE: (979) 823-6557 b UPDATE ADDRESSES AND NOTES 1/26/24 PAGE
MIAMI, FL 33132 ) LONGVIEW, TX 75604 FAX: (979) 823-1005 NO 2 OF 7
FBPE Cert. of Authorization No. 29578 '



AutoCAD SHX Text
FRAME HEIGHT

AutoCAD SHX Text
FRAME WIDTH

AutoCAD SHX Text
FRAME WIDTH

AutoCAD SHX Text
0.250" MAX SHIM

AutoCAD SHX Text
0.250" MAX SHIM

AutoCAD SHX Text
0.250" MAX SHIM

AutoCAD SHX Text
0.250" MAX SHIM

AutoCAD SHX Text
3/4" MIN. EDGE DISTANCE

AutoCAD SHX Text
1 1/2" MIN. EMBEDMENT

AutoCAD SHX Text
1 1/2" MIN. EMBEDMENT

AutoCAD SHX Text
3/4" MIN. EDGE DISTANCE

AutoCAD SHX Text
1 1/2" MIN. EMBEDMENT

AutoCAD SHX Text
3/4" MIN. EDGE DISTANCE

AutoCAD SHX Text
1 1/2" MIN. EMBEDMENT

AutoCAD SHX Text
3/4" MIN. EDGE DISTANCE

AutoCAD SHX Text
"Hermes F. Noreno, P.E. Florida P.E. No. 73778 1900 NE MIAMI CT, UNIT 2-15 MIAMI, FL 33132 FBPE Cert. of Authorization No. 29578"


CONCRETE
MASONRY BY
OTHERS

INSTALLATION
ANCHOR
/ ; INTERIOR
~ ] ] >

3/16" ITW TAPCON

2 1&8” MIN, |
EDGE DISTANCE o 6
\ - </
- /) | JAMB
MASONRY BY - :
= NRY BY e SCALE: FULL y !
leR?%) o
o3 A B =
> ' )
i &
=5 \@ n @ JAMB
=5 N z
o H & @ HEAD z RO SCALE: FULL
I SCALE: FULL > EXTERIOR
@/ @ 3/16" ITW TAPCON N
_ INSTALLATION
@_/ B ANCHOR N FRAME WIDTH
. B 0.25"
\@ MAX SHIM
’ \@
.
&5 6
7 |[EXTERIOR INTERIOR
g CONCRETE
& 6 MASONRY BY
L OTHERS
| 3/16" ITW TAPCON
7 \ /—@ INSTALLATION
/_@ ANCHOR
s O :
ULK BETWEEN MASONRY BY]
CONCRETE/ 3/16" ITW TAPCON OTHERS
MASONRY & 2X // INSTALLATION @_\
WOOD BUCK BY | =1 ANCHOR
. OTHERS il STLL ( o A
0 = PERIMETER @_\_ = /_@ @ a N 1P MIN |
SF CAS%IEE%E\ = SCALE: FULL INTERIOR N\ N VBEDMENT _p— |
= =
. A8 =z Dﬂ E i
CONCRETE ' 3 =5 H
MASONRY BY 3 = A ik @ JAMB
OTHERS /| 3 Ny .
£ ¢ - (.,) ) SCALE: FULL
3 — A 20X o8 O
. hw - <ZE
2 1/2* MIN, = %
EDGE [DISTANCE ! < | / : =
. ' - / Lol
O
EXTERIOR &
z
=
N
FRAME WIDTH A |
025" /| . .
MAX SHIM
MEMO NO. 8032-12 REVISIONS SCALE  DETAILS: FULL
ELEV:3/4"=1'
DESCRIPTION: A EDITED DETAILS TO 2010 2/13/14
ALL EA 3 o N 3 E2500/E3250/E4000 CASEMENT OUT B ADDED E3250 AND E4000 5/6/14 | PRAWNBY: IKY
COMMERCIAL WINDOWS & poors | BOM AND DIES C UPDATE NOTES 11/23/20 | pargprawn:  10/31/13
1900 NE MIAMI CT. UNIT 2-15 400 AMBASSADOR ROW PHONE: (979) 823-6557 b UPDATE ADDRESSES AND NOTES 1/26/24 PAGE 3
NOTE: DRAWINGS TO SCALE ON 24 X 36 PAPER ONLY 3 o No. 29578" LONGVIEW, TX 75604 FAX: (979) 823-1005 NO. OF '/



AutoCAD SHX Text
FRAME HEIGHT

AutoCAD SHX Text
FRAME WIDTH

AutoCAD SHX Text
FRAME WIDTH

AutoCAD SHX Text
2 1/2" MIN. EDGE DISTANCE

AutoCAD SHX Text
2 1/2" MIN. EDGE DISTANCE

AutoCAD SHX Text
2 1/2" MIN. EDGE DISTANCE

AutoCAD SHX Text
2 1/2" MIN. EDGE DISTANCE

AutoCAD SHX Text
"Hermes F. Noreno, P.E. Florida P.E. No. 73778 1900 NE MIAMI CT, UNIT 2-15 MIAMI, FL 33132 FBPE Cert. of Authorization No. 29578"


172" MIN,
EDGE DISTANCE

MIN. 18 GA. STEEL STUD

MINIMUM & THREAD
ENGAGEMENT BEYOND STEEL STRUCTURE

- MINIMUM & THREAD
ENGAGEMENT BEYOND STEEL STRUCTURE

—1 —]
- MIN. 18 GA. STEEL STUD
= / "BY OTHERS"
0
N
©Z
> —
P —=
= @ HEAD
= (S
18 GAUGE STEEL = :
STUD BY OTHERS @_/ :zz\\\@ SCALE: FULL
\\ #10 TEK SCREW
INSTALLATION
B_ ANCHOR
|_
5 y 6
7 |[EXTERIOR INTERIOR
(|
= A
§ 6
7 \ /—@
g's [: /_‘
(®) / #10 TEK SCREW
] = | / INSTALLATION
’ ANCHOR
= =n) SILL
=1 2
i SLKEL N = SCALE: FULL

18 GAUGE STEEL
STUD BY OTHERS \\

172" MIN,
EDGE DISTANCE

NOTE: DRAWINGS TO SCALE ON 24 X 36 PAPER ONLY

)

—

MIN. 18 GA. STEEL STUD

/ "BY OTHERS"

MINIMUM & THREAD

6

R A |

L

0]

rrr

#10 TEK SCREW

<

INSTALLATION
ANCHOR

o

EXTERIOR

=l

@/ n
0.250”

U / "BY OTHERS"
A /@ e d INTERIOR
[4 6
ST v | }f [ﬂ
#10 TEK SCREW o
INSTALLATION S
ANCHOR
1/2" MIN,
EDGE DISTANCE
@ JAMB
[ SCALE: FULL
MAOXESSOH”IM EXTERIOR
FRAME WIDTH
@ @7 MIN. 18 GA. STEEL STUD
0 / "BY OTHERS"
]
MINIMUM 3 THREAD
@_\ ENGAGEMENT BEYOND STEEL STRUCTURE
( —\ —\
INTERIOR | - m N

@ JAMB
SCALE: FULL

1/2” MIN,
EDGE DISTANCE
7E5] |

Florida P.E. : ()
1900 NE MIAMI CT, UNIT 2—15
MIAMI, FL 33132

FBPE Cert. of Authorization No. 29578”

400 AMBASSADOR ROW
LONGVIEW, TX 75604

PHONE: (979) 823-6557
FAX: (979) 823-1005

UPDATE ADDRESSES AND NOTES

1/26/24

PAGE
NO.

"~ ENGAGEMENT BEYOND STEEL STRUCTURE MAX SHIM
FRAME WIDTH
< MEMO NO. 8032-12 REVISIONS SCALE g}]::g\éug/s4 liI{LL
S L L E s o N s DESCRIPTION: A EDITED DETAILS TO 2010 /2/13/14
3 A A B ADDED E3250 AND E4000 5/6/14 | PRAWNBY: JKY
z3 E2500/E3250/E4000 CASEMENT OUT
e 5 COMMERCIAL WINDOWS & poors | BOM AND DIES C UPDATE NOTES 11/23/20 | pareprawn:  10/31/13
D

4 ofF 7]



AutoCAD SHX Text
FRAME HEIGHT

AutoCAD SHX Text
FRAME WIDTH

AutoCAD SHX Text
FRAME WIDTH

AutoCAD SHX Text
0.250" MAX SHIM

AutoCAD SHX Text
0.250" MAX SHIM

AutoCAD SHX Text
1/2" MIN. EDGE DISTANCE

AutoCAD SHX Text
1/2" MIN. EDGE DISTANCE

AutoCAD SHX Text
1/2" MIN. EDGE DISTANCE

AutoCAD SHX Text
1/2" MIN. EDGE DISTANCE

AutoCAD SHX Text
"Hermes F. Noreno, P.E. Florida P.E. No. 73778 1900 NE MIAMI CT, UNIT 2-15 MIAMI, FL 33132 FBPE Cert. of Authorization No. 29578"


EXTRUSIONS

aser b ITEM NO. | PART NO. ITEM DESCRIPTION MANUFACTURER / NOTES
® 1 10889 FRAME EXTERIOR 6063-T5 ALUMINUM
0.125" — A f— 0.125" 2 10885 FRAME INTERIOR 6063-T5 ALUMINUM
h 0. epsn ; 1.625" ; 3 11886 VENT EXTERIOR 6063-T5 ALUMINUM
1185 A1 07507 0750 E 1.125" 2.500” % ﬂ i 0.750” 4 11883 VENT INTERIOR 6063-T5 ALUMINUM
_‘ J J 1,938 s 3;6” 5 11880 GLAZING BEAD 6063-T5 ALUMINUM
1 0.8967 * % 0.125" 6 V-414 GLAZING VINYL SOFT PVC
U 7 66108802 20mm THERMAL STRUT ENSINGER
= 0.896" 1~ 8 V-537 BULB VINYL SOFT PVC
15 SHEAR CLIP 6063-T5 ALUMINUM
@ FRAME EXTERIOR @ FRAME INTERIOR @ VENT EXTERIOR
SEALS & SEALANTS
0.8956" £~
ﬁ JEL T ﬁv ITEM NO. | PART NO. ITEM DESCRIPTION MANUFACTURER / NOTES
0.870" %B 0.937" o 0'7J50” 0245 4o _ (276 9 SEAM SEALANT SCHNEE MOREHEAD 2205
Lo | T LI
0195 0.859" £~
HARDWARE
@ VENT INTERIOR @ GLAZING BEAD @ GLAZING VINYL ITEM NO. | PART NO. ITEM DESCRIPTION MANUFACTURER / NOTES
10 66108841 BUTT HINGE
11 66108861 BASE LOCK BAR BRONZECRAFT
4(0,787” f 12 66107049 PULL HANDLE BRONZECRAFT
NS 0.283”
ONS/X (O
0.180" A jJ [
MISC. FASTENERS
SHEAR CLIP ITEM NO. | PART NO. ITEM DESCRIPTION MANUFACTURER / NOTES
@ 20mm STRUT @ BULB VINYL ALUMINUM 6063-T5 13 66103392 #8 - 15X 1" PH PN HD 'A' CAD SCREW FRAME ASSEMBLY SCREW
14 INSTALLATION ANCHOR
GLAZING DETAIL:
L~
) NOTE: "GLASS TYPE AND
ANNEALED
THICKNESS MAY VARY
s ACCORDING TO THE ASTM E1300
0.A, GLASS CHART REQUIREMENTS"
= |
— == 1/47
(“ U ANNEALED
@ 0.625"
SILICONE SEALANT GLASS BITE
FOAM TAPE
MEMO NO. 8032-12 REVISIONS SCALE DETAILS: FULL
ELEV:3/4"=1'
): 7 DESCRIPTION: A EDITED DETAILS TO 20120 2/13/14
7Y, | ALL/EASONS —
s, : w2 B ADDED E3250 AND E4000 5/6/14 ' JKY
= ] e E2500 CASEMENT OUT
"Hermes ' RO, g \Z\\$ COMMERCIAL WINDOWS & DOORS B OM AND DIE S ¢ UPDATE NOTES 11/23/20 DATE DRAWN: 10/31/13
Florida P.E. )0 W
1900 NE MIAMIH,&J,M\ NTT 2—15 400 AMBASSADOR ROW PHONE: (979) 823-6557 b UPDATE ADDRESSES AND NOTES 1/26/24 PAGE 5 7
NOTE: DRAWINGS TO SCALE ON 24 X 36 PAPER ONLY 2 et No. 28578" LONGVIEW, TX 75604 FAX: (979) 8231003 NO. OF



AutoCAD SHX Text
0.180"

AutoCAD SHX Text
0.283"

AutoCAD SHX Text
0.787"

AutoCAD SHX Text
0.245"

AutoCAD SHX Text
0.279"

AutoCAD SHX Text
0.870"

AutoCAD SHX Text
0.856"

AutoCAD SHX Text
0.125"

AutoCAD SHX Text
0.937"

AutoCAD SHX Text
0.125"

AutoCAD SHX Text
0.856"

AutoCAD SHX Text
1.125"

AutoCAD SHX Text
0.125"

AutoCAD SHX Text
1.938"

AutoCAD SHX Text
0.856"

AutoCAD SHX Text
2.500"

AutoCAD SHX Text
0.125"

AutoCAD SHX Text
0.750"

AutoCAD SHX Text
0.856"

AutoCAD SHX Text
0.356"

AutoCAD SHX Text
1.625"

AutoCAD SHX Text
1.125"

AutoCAD SHX Text
0.750"

AutoCAD SHX Text
0.750"

AutoCAD SHX Text
0.625"

AutoCAD SHX Text
1/4" ANNEALED

AutoCAD SHX Text
1/4" ANNEALED

AutoCAD SHX Text
1.000" O.A.

AutoCAD SHX Text
0.625" GLASS BITE

AutoCAD SHX Text
SILICONE SEALANT

AutoCAD SHX Text
FOAM TAPE

AutoCAD SHX Text
"Hermes F. Noreno, P.E. Florida P.E. No. 73778 1900 NE MIAMI CT, UNIT 2-15 MIAMI, FL 33132 FBPE Cert. of Authorization No. 29578"

AutoCAD SHX Text
0.750"

AutoCAD SHX Text
0.865"

AutoCAD SHX Text
0.859"


NOTE: DRAWINGS TO SCALE ON 24 X 36 PAPER ONLY

EXTRUSIONS

ITEM NO. | PART NO. ITEM DESCRIPTION MANUFACTURER / NOTES
1 10889 FRAME EXTERIOR 6063-T5 ALUMINUM
2 12058 FRAME INTERIOR 6063-T5 ALUMINUM
3 11886 VENT EXTERIOR 6063-T5 ALUMINUM
4 12060 VENT INTERIOR 6063-T5S ALUMINUM
E3250 - 31" Frame window installation 5 11880 GLAZING BEAD 6063-T5 ALUMINUM
anchor placement shown. Reference 6 V-414 GLAZING VINYL SOET PVC
previous pages for anchor type and spacing 7 66108802 20mm THERMAL STRUT ENSINGER
based on substrate installed into.
8 V-537 BULB VINYL SOFT PVC
15 SHEAR CLIP 6063-T5 ALUMINUM
SEALS & SEALANTS
ITEM NO. | PART NO. ITEM DESCRIPTION MANUFACTURER / NOTES
9 SEAM SEALANT SCHNEE MOREHEAD 2205
HARDWARE
ITEM NO. | PART NO. ITEM DESCRIPTION MANUFACTURER / NOTES
10 66108841 BUTT HINGE
11 66108861 BASE LOCK BAR BRONZECRAFT
Caser b 12 66107049 PULL HANDLE BRONZECRAFT
/‘; 1.606" —
0.123" — 1 E
| oees — o mE 7 o r MISC. FASTENERS
1St A 0.750" N OLI | 1938 2.500" f ﬂ E 0.750" '
—‘ J ) : A ITEM NO. | PART NO. ITEM DESCRIPTION MANUFACTURER / NOTES
yh 0.813 k¥ 0.356"
- 0896 | L 01ps 13 66103392 #8 - 15X 1" PH PN HD 'A' CAD SCREW FRAME ASSEMBLY SCREW
14 INSTALLATION ANCHOR
(1)FRAME EXTERIOR  (2) FRAME INTERIOR (3) VENT EXTERIOR
f— 1.606" —
0.870 - HEL 0.8117 ) 0.787"
0.865 0.750" 0.245" ﬂ 079 ﬁ f _ - 0e83°
A 1] J 5 | NP Q [ jJ [
Jogser - 0.180" Ao
@ SHEAR CLIP
(4) VENTINTERIOR ~ (5) GLAZING BEAD  (6) GLAZING VINYL (7) 20mm STRUT BULB VINYL "> ALUMINUM 6063-T5
MEMO NO. - REVISIONS DETAILS: FULL
3032-12 SCALE gy 3 -1
A A B ADDED E3250 AND E4000 5/6/14 | PRAWNBY: IKY
E3250 CASEMENT OUT
COMMERCIAL WINDOWS & poors | BOM AND DIES ¢ UPDATE NOTES L2320 | parerawn: — 10/31/13
1900 NE Miaml oF T o qs D UPDATE ADDRESSES AND NOTES 1/26/24

MIAMI, FL 33132
FBPE Cert. of Authorization No. 29578”

400 AMBASSADOR ROW
LONGVIEW, TX 75604

PHONE: (979) 823-6557
FAX: (979) 823-1005

wee G OF ]



AutoCAD SHX Text
0.180"

AutoCAD SHX Text
0.283"

AutoCAD SHX Text
0.787"

AutoCAD SHX Text
0.245"

AutoCAD SHX Text
0.279"

AutoCAD SHX Text
0.125"

AutoCAD SHX Text
0.856"

AutoCAD SHX Text
1.125"

AutoCAD SHX Text
2.500"

AutoCAD SHX Text
0.125"

AutoCAD SHX Text
0.750"

AutoCAD SHX Text
0.856"

AutoCAD SHX Text
0.356"

AutoCAD SHX Text
1.625"

AutoCAD SHX Text
0.750"

AutoCAD SHX Text
0.625"

AutoCAD SHX Text
3 "14"

AutoCAD SHX Text
0.750"

AutoCAD SHX Text
0.865"

AutoCAD SHX Text
0.859"

AutoCAD SHX Text
1.938"

AutoCAD SHX Text
1.606"

AutoCAD SHX Text
0.750"

AutoCAD SHX Text
0.813"

AutoCAD SHX Text
1.606"

AutoCAD SHX Text
0.870"

AutoCAD SHX Text
0.811"

AutoCAD SHX Text
"Hermes F. Noreno, P.E. Florida P.E. No. 73778 1900 NE MIAMI CT, UNIT 2-15 MIAMI, FL 33132 FBPE Cert. of Authorization No. 29578"


NOTE: DRAWINGS TO SCALE ON 24 X 36 PAPER ONLY

E4000 - 4" Frame window i1nstallation
anchor placement shown. Reference

previous pages for anchor type and spacing

based on substrate installed into.

0.123" —

¥ 0856" f-

(1)FRAME EXTERIOR  (2) FRAME INTERIOR  (3) VENT EXTERIOR

: 2.3096" '
. 2161 ——F
0.870" Ej < = &0-937”
~N L]
(4) VENT INTERIOR (s5)

0.625" 5
1125 | ) 0,750
| J ! E LU)

0.813"

2,336

0.865" é | 0750
|

7\/ 0.839" f~

GLAZING BEAD

EXTRUSIONS
ITEM NO. | PART NO. ITEM DESCRIPTION MANUFACTURER / NOTES
1 10889 FRAME EXTERIOR 6063-T5S ALUMINUM
2 11955 FRAME INTERIOR 6063-T5 ALUMINUM
3 11886 VENT EXTERIOR 6063-T5S ALUMINUM
4 11956 VENT INTERIOR 6063-TS ALUMINUM
5 11880 GLAZING BEAD 6063-TS ALUMINUM
6 V-414 GLAZING VINYL SOFT PVC
7 66108802 20mm THERMAL STRUT ENSINGER
8 V-537 BULB VINYL SOFT PVC
15 SHEAR CLIP 6063-T5S ALUMINUM
SEALS & SEALANTS
ITEM NO. | PART NO. ITEM DESCRIPTION MANUFACTURER / NOTES
9 ---- SEAM SEALANT SCHNEE MOREHEAD 2205
HARDWARE
ITEM NO. | PART NO. ITEM DESCRIPTION MANUFACTURER / NOTES
10 66108841 BUTT HINGE
11 66108861 BASE LOCK BAR BRONZECRAFT
08567 k- 12 66107049 PULL HANDLE BRONZECRAFT
i
1.625°
E r MISC. FASTENERS
2.200” ’jj 0.790"
: ﬁiL \ ITEM NO. | PART NO. ITEM DESCRIPTION MANUFACTURER / NOTES
' 0.336"
% 015" 13 66103392 #8 -15 X 1" PH PN HD 'A’' CAD SCREW FRAME ASSEMBLY SCREW
14 ---- INSTALLATION ANCHOR
0.245" ﬂ —0.279" 7@787/* —f e jJ [
A S L
0.180"
i3) ,,  SHEAR CLIP
(6) GLAZING VINYL (7) 20mm STRUT BULB VINYL ALUMINUM 6063-T5

W

"Hermes F.
Florida P.E. 4 ()

1900 NE MIAMI CT, UNIT 2—15

MIAMI, FL 33132

FBPE Cert. of Authorization No. 29578”

ALL / EASONS

COMMERCIAL WINDOWS & DOORS

400 AMBASSADOR ROW
LONGVIEW, TX 75604

PHONE: (979) 823-6557
FAX: (979) 823-1005

MEMO NO. 8032-12 REVISIONS SCALE DETAILS: FULL
ELEV:3/4"=1'
DESCRIPTION: A EDITED DETAILS TO 2010 2/13/14
B ADDED E3250 AND E4000 5/6/14 | PRAWNBY: JKY
E4000 CASEMENT OUT
BOM AND DIES C UPDATE NOTES 112320 | e prawne 1031713
D UPDATE ADDRESSES AND NOTES 1/26/24

wee ] OF ]



AutoCAD SHX Text
0.180"

AutoCAD SHX Text
0.283"

AutoCAD SHX Text
0.787"

AutoCAD SHX Text
0.245"

AutoCAD SHX Text
0.279"

AutoCAD SHX Text
0.125"

AutoCAD SHX Text
0.856"

AutoCAD SHX Text
1.125"

AutoCAD SHX Text
2.500"

AutoCAD SHX Text
0.125"

AutoCAD SHX Text
0.750"

AutoCAD SHX Text
0.856"

AutoCAD SHX Text
0.356"

AutoCAD SHX Text
1.625"

AutoCAD SHX Text
0.750"

AutoCAD SHX Text
0.625"

AutoCAD SHX Text
4"

AutoCAD SHX Text
0.750"

AutoCAD SHX Text
0.865"

AutoCAD SHX Text
0.859"

AutoCAD SHX Text
0.750"

AutoCAD SHX Text
2.356"

AutoCAD SHX Text
0.813"

AutoCAD SHX Text
2.161"

AutoCAD SHX Text
2.356"

AutoCAD SHX Text
0.870"

AutoCAD SHX Text
0.937"

AutoCAD SHX Text
"Hermes F. Noreno, P.E. Florida P.E. No. 73778 1900 NE MIAMI CT, UNIT 2-15 MIAMI, FL 33132 FBPE Cert. of Authorization No. 29578"


		2024-02-26T14:23:42-0500
	Hermes F. Norero, P.E.
	I am approving this document




